
Name

On My Own
Find each sum.

 5.

7 + 0 = 

 6.

0 + 6 = 

 7. 3 + 1 =  8. 8 + 0 = 

 9. 3 + 0 =  10. 2 + 3 = 

 11. 0 + 9 =  12. 0 + 5 = 

 13. 1 + 3 =  14. 0 + 2 = 

 15. 4 + 2 =  

Show Show 
me how!me how!
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Problem Solving
 16. Jackson has 4 canoe paddles. 

Ian has 0 paddles. How many 

paddles do they have altogether?

 paddles

 17. Grayson ate 2 hot dogs. His 

friends ate 4 hot dogs. How many 

hot dogs did they eat altogether?

 hot dogs

   Adrian adds 6 + 0 

like this. Tell why Adrian is wrong. 

Make it right.

l

HOT ProblemHOT Problem 0 6 + 0 = 06 + 0 = 0
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